Section 9.5 Factoring x” + bx + ¢

Goal « Factor trinomials of the form x° + bx + c.

Factoring ax” +bx + ¢

Example 1: Factor each trinomial
a. X'+ 1lx+18

a= | b={l c=|%
a.¢ = 18] Swmil
Lig |+ =19
2,9 (Zra=1)
5, 3+ = 4

Factored Form: ( X 4 2. X X _f__og )

¢ Y +2y-15

a= | b=2 c¢=-15

0L=-15Sum: 2

-9, | -5+ =14
-5,% O T Tl
D, -5 5+-% =2V

Factored Form: ( @P_).n 5 X g.j — 5

g

Checkpoint: Factor each trinomial.
1. x+12x+27

a= | b= |2 =2+

OC=24 | Stvmn 12,
Q:g Q%'gff!l

Factored Form: ( X+q I l)(.}_,B )

b. XX —Tx+ 10
a= | b=-Fc=ID
O-C = 1D Sum : -F
I, 10 | H10 =i
2,5 ard=F
e Ca e A )

Factored Form: ( X — 2. )( X -5

d n-6n-7
a= | b= -pec= -

0.0 = - | Sum: -l

-, A cu/)

Factored Form: (1 -"3+ ) 1 4+ | )

2. % =9x+20

a= | b=-9Qc=20
0220  Sum: -9
H,-5 | -d+-5:-9

Factored Form: ( X - FINE £ 6 )



Section 9.5 Factoring x” + bx + ¢

Steps to Solving Polynomial Equations

Step 1: Set the equation equal to zero
Step 2: Factor the polynomial
Step 3. Solve

Exampie 2: Solve the equa‘{lon

a. x> —4x =21 . b. ' = 2r=24
Xd-}x-21=0 r3-2r-2d=p
a= | b=y o=-2| a= | b=-2 c=-2,]

O =-A | Sum: -+ 0Lz ~a4§ som: ~2
i ) ~1+3 =-4 ~ (2, 4 ~lp +4 = -2,
(mm@ =0 o)) =0
sé \V
X = : M% =0 Y”UZ O =0

chhng ;izros of Flm EE

Step I: Set the function equal to zero
Step 2: Factor the polynomial

Step 3: Solve
Example 3 Find the zeros of the function.
a. flx)=x"+3x-18 = b fix)=x"-5x-24 =
a= | b= 3 c= -1k a= | b=-5 c= -2.}
O.c=-18 Sum: 3 4 G.c= 24 Sum: -5
w, -2 |b+3=2 -82 |-8+3:="5
Lt X x-2=0 SEDEIED
& » / N

Xtwe=0 X-3=0

£%) (3]




